[EEN| 1v44 r7o- N 7 B[ L K [Ev-/w#m
g 1.3 g 2 3 | EE EHO
dhz =0 237 6ot [34] 8 4 | 02 | 012
L 6 28 4 4 5 0.25 0.14
T 8 4 0 56 | 10 6 0.40 0.18
10 | 5 —0012 | 65 | 12 8 0.40 0.20
» 16 [10 [ 3o |12 14 | 6 10~20) 050 | o022
P 20 |12 | o5 [14 16
q OREED 21 TIHBEL A TITHERA 2 ¥4 KZO—HFELISVOT, K51/~
DORNETEREBEE S BVE I ICTEBLCLEV, HIGhTLEI &, 1241 K7
¢B O-&BUAE B G BEREMD B Y T,
@OAFAN—S DA >4 K70—(3P526 - 528 - 530077 b4 K1) >4 MME sUs420
EDHAEDEISEELE T, B % 50~53HRC
WE217 BEMZ17
— B X — B R
REv-7 Type No. = REV-7 Type No.
3 | 2420245 H |(20235F9R » S8ER]) 3
4 202411 ALIR £ ERED A SEREFEAVET, 4
5 20255 4B ICBRFRT FECTo 5
DYY 6 |25 (20255 | (202449 # > 87 7T) E:3 DN 6
X LIR&E iR FEBHYET,
| @ | oy (3] cmmmmmssmmamses al O] ow [
(REZD) 10| 26 (20265 (20255 9B 1 5 EH]) (RENZ D) |10
16 2026 F 1AL IF A ERED A SARRHE AW E T, 16
20 2027E4RICRER T FETT. 20
EEN| 7 ry1r0y Do Drr drz L
¢ Dms 3 13:38% 3 —0.01 14 8
P & dur 4 4 1.9 +got 8
,‘% c=0 c=0 5 | f88% [ 5 | B0 [ 23 8
S Y L 6 6 28 8
S 8 8 4 ! 10
\ 10 | F08% [50 | Bos [ 5] "8 [
g 16 | f00° [ 16 | ois [10 | 80 | 14 U
el H 20 | 0% | 20 | 8o |12 | TEO | 16 3
S = E @AR—SDTY A K127 14P526 - 528D 1 >4 1 K 5
TRA-EDEAEDEICEELET, M
@ Dir M#ME U420 ?
[ %%  50~53HRC 5
BEEYE 217 WA -8 --EMN2147
— 5 |7IMME Z R = s |7TIMAF 2R
BRY=7 |y Type | D = BERY=7 |yl Type | D
4 | 24[2024~20275 A |(20235 98 » S5 = 3
202411 BRI A ERE D B SEEHFE LY ET, \° - :
é 5 2025548 R T FE T : O“ 12%% IDTC—R[ 5
% 6 | 25[2025~20285 A | (2024 £E9R 1 5 4 FT) :
; 12%4% | DT—R | 8 520255 11 AR E A RO A SREHFE AW E T, B 4
1 10 2026 4R ICBRFER T FE TS,
7 26| 2026~20294F 8 | (2025497 1 > 4EE ) e
16 20267 1 ALIFEE L B O A SHEHFEL L ET, 12%% |DTD—R 8
20 2027 4RICIRFEE T FETT, 16
4 | 24]2024~2029% F |(2023 598 # SHRTER]) 20
5 #2024 F N LIRS EEREO B SHEHFE R ET, A 4
% 2025F4BICRERT FETTo i 2
6 | 25[2025~20305 F |(20245F9A » 545 7ERT) - @ o~ _
g 12%% | DTS—R P #2025 ENALIRR EERE DA SABHFE LV ET, ol 10=% |DTE—R 10
1 2026 4R ICBRFER T FETT, @ 2 16
7 10 126 [2026~2031 5 H |(20255F9R » SIETEF]) = 20
1 H202BENALIRREEREOS SARHBELVET, A 4
6 2027 AR IFER T FETT. =
F 12%4% [DTF—R[_8.
ot TS W) @2 g :
EXH (F)DYY6 - 22 HHE o fiL —
(EF)DN10 .
(()DT—-R16 — 22 A 31ES IDTG—R——
(B)DTD—R16 20
4
4 6
@ 12%4% |IDTN—R[_8
F 10
16
20

® DTD—R4~BDFF10~1213PLTH 521 7 526
DNFT+ > hekl) £4,B5P512

N |





